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1	Introduction
In August 2020 at RAN4#96e, RAN4 sent an LS to the FCC asking for clarification on testing issues related to NB-IoT device certification and devices that have been failing certification testing. On March 31, 2021 there was a call between the FCC, T-Mobile USA and Qualcomm to discuss the LS. This document is providing information to RAN4 about the feedback from the FCC. 
2	Discussion
[bookmark: _Hlk40391733][bookmark: _Hlk47712237]The LS to the FCC contained five questions related to NB-IoT testing. On the call with Qualcomm and T-Mobile USA, the FCC said that they would not be providing a written response to the LS, but that they could provide us with some verbal responses to the first two questions. They said that the 3rd, 4th and 5th questions would need to be worked through the FCC’s KDB process. 
The first question in the LS was on band 12:
1) Band 12: If an operator has a license for the lower 700 MHz A block (698-704 MHz uplink) and operates an NB-IoT network in 3GPP  Band 12 (699-716 MHz uplink), in the  requirement from 27.53 part (g) for 43 + 10 log (P) dB attenuation “in the 100 kilohertz bands immediately outside and adjacent to a licensee's frequency block, a resolution bandwidth of at least 30 kHz may be employed”, does “100kHz” apply at A block (698-704 MHz uplink), 3GPP Band 12 (699-716 MHz uplink), or FCC band 12 (698-716MHz uplink)? That is does the “100 kHz” refer to 697.9-698 MHz and 704.704.1MHz or 698.9-699MHz and 716-716.1MHz or 697.9-698 MHz and 716-716.1MHz? 

The unofficial response can be summarized as follows:
The A block in Band 12 is from 698-704 MHz. If the licensee only has the A block, the first 100 kHz is below 698 MHz and above 704 MHz. If the licensee has two or three blocks, the rules apply at the edges of their combined blocks. The 3GPP band edges are not relevant when they don’t align with the FCC license edges. 

The second question was about Band 13:
2) Band 13: If an operator has a license for the upper 700 MHz C block (776-788 MHz uplink) and operates an NB-IoT network in 3GPP  Band 13 (777-787 MHz uplink), in the  requirement from 27.53 part (c) says 
“(2) On any frequency outside the 776-788 MHz band, the power of any emission shall be attenuated outside the band below the transmitter power (P) by at least 43 + 10 log (P) dB;” 
and 
“(5) Compliance with the provisions of paragraphs (c)(1) and (c)(2) of this section is based on the use of measurement instrumentation employing a resolution bandwidth of 100 kHz or greater. However, in the 100 kHz bands immediately outside and adjacent to the frequency block, a resolution bandwidth of at least 30 kHz may be employed;”
Does the “100 kHz immediately outside and adjacent to the frequency block” refer to 785.9-786 MHz and 788-788.1 MHz or 776.9-777 and 787-787.1 MHz?

The unofficial response can be summarized as follows:
The FCC license is 776-787 MHz for the uplink. The 3GPP band is 777-787 MHz. The first 100 kHz is below 776 MHz and above 787 MHz for the uplink. 

For the final 3 questions in the LS:
3) First measurement interval: The FCC wording in 27.53 says “However, in the 100 kilohertz bands immediately outside and adjacent to a licensee's frequency block, a resolution bandwidth of at least 30 kHz may be employed.” When emissions are tested for the lower edge of Band 85 (698-716 MHz uplink), is the first 30 kHz measurement made in 697.97 to 698 MHz, or from 697.985 to 698.15 MHz? 
4) Network deployment restriction: If the FCC emissions requirements could be met with a 100 kHz offset from the protected region, would it be sufficient for 3GPP to require a mandatory 100 kHz offset from the NB-IoT channel edge to the edge of the protected region for both guard band and standalone NB-IoT operation for US bands and for the FCC to require 100 kHz offset for NB-IoT network deployments in order to ensure that emissions requirements are met? 
5) NS signalling approach: If the answer of 4) is no, would it be sufficient for 3GPP to use NS signalling to prevent withing 100 kHz of the protected region? Would the FCC labs turn on NS signalling when the UE is certified?  

As mentioned above, the FCC suggested following the KDB process to resolve any issues, if needed. 
Proposal: Companies should consider the information above from the FCC and discuss how to proceed at RAN4#99. 
3	Conclusions
Proposal: Companies should consider the information above from the FCC and discuss how to proceed at RAN4#99. 
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